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KEY AND MARKING SCALE
Please accept any appropriate answer not mentioned in this key
I. COMPREHENSION 15POINTS ( Candidates should not be penalised for grammar or spelling mistakes)
A. THE BEST TITLE: (2 pts) : The story of a disabled girl
B. WH QUESTIONS: (3 pts: 1 pt for each appropriate answer )
1. Due to /because of a serious illness that caused her paralysis in her early childhood.
2. With her parents/ she returned to her parents’ place
3. Latifa contacted them/ wrote (letters) to them.
C. TRUE OR FALSE+ JUSTIFICATION: (3 pts: 1 pt for each correct and justified answer )
1. F:she immediately joined ..........
2. T: She began earning money from making................... / she became the breadwinner in......
3. F: She stood up against arranged marriages ...
D. SENTENCE COMPLETION: (3 pts : 1 pt for each appropriate completion )
1. .... of her physical handicap/ she was physically handicapped
2. ... hehad divorced Latifa/ the divorce/ their divorce ...
3. .... water started to pour out of a fountain.../ when the caravan arrived ...
E. WORD REFERENCE: (2 pts: 1 pt for each correct answer)
1. They: the teachers
2. them: (German non-governmental) organisations
F. WORD MEANING: (2 pts: 1 pt for each correct answer)

1. went back
2. a(role) model
1. LANGUAGE (15 POINTS)
A. CORRECTFORM : (2 pts: 1 pt for each correct answer )
poverty - illiterate
B. MATCHING: (2pts: 1 pt for each correct answer)
1. higher education 2. take place

C. REWRITING SENTENCES: (3 pts: 1 pt for each correct answer )
1. If Yassine had stopped at the red light, he wouldn’t have had an accident.
2. Jamal told his teacher that he had learned/learnt English ...
3. Anew vaccine for H1 N1has recently been discovered (by scientists).
D. VERB TENSE: (3 pts: 1 pt for each correct answer )
had got /had gotten/got - went — will join
E. GAPFILLING: (1 pts: 0.5 pt for each correct answer )

Lo Where ......oooiviiii
2. Who .o
F. MATCHING: (2 pts: 1 pt for each correct answer )
1: advising 2: complaining

G. JOINING SENTENCES: (2 pts: 1 pt for each correct answer )
1. Mr Ferguson was late for work because his car broke down on the way/ Because. ..
2. Although Sonia wasn’t feeling well, she went to ... / Soniawent to ... although she wasn’t feeling well.
1. WRITING (10 POINTS)

Scoring criteria Scores
Relevance of content to the tasks (3 pts)
Paragraph and composition organisation (2 pts)
Appropriateness and variety of vocabulary (2 pts)
Accuracy of grammar (2 pts)
Mechanics (spelling, punctuation, capitalisation) (1 pt)
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